Command Dictionary -- LCG
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LCG Icg
Sets the total Fixed-Weight longitudinal center of gravity.
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Icg
The longitudinal coordinate, in current length units, of the Fixed-Weight center of
gravity. If prefaced by an asterisk, the present value is incremented (or decremented).
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Note: The Fixed Weight is the total vessel weight less the contents of tanks (but only
those tanks which are being explicitly modeled).
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LCG can also be set with the WEIGHT, SOLVE and GMTMMT commands.
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Operation
BAE
If added weights are in existence (see the ADD command) then the center of gravity

of the Light Ship is adjusted in order to achieve the total Fixed-Weight center of
gravity.
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Output:

Example
FE
Adjusting the Light Ship LCG for a total Fixed-Weight LCG of 50.5:
R i B O A [ 4 R B 9k R0 o2 B9 50.5
LCG 50.5
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